 EQ \b(4x+3)\s\up2(2)-\b(4x+3)\b(x-3)-30\b(x-3)\s\up2(2)=0 
 EQ \b(16x\s\up2(2)+24x+9)-\b(4x+3)\b(x-3)-30\b(x\s\up2(2)-6x+9)=0 
 EQ \b(16x\s\up2(2)+24x+9)-\b(4x\s\up2(2)-12x+3x-9)-\b(30x\s\up2(2)-180x+270)=0 
 EQ \b(16x\s\up2(2)+24x+9)-\b(4x\s\up2(2)-9x-9)-\b(30x\s\up2(2)-180x+270)=0 
 EQ 16x\s\up2(2)+24x+9-4x\s\up2(2)+9x+9-30x\s\up2(2)+180x-270=0 
 EQ -18x\s\up2(2)+213x-252=0 
 EQ 18x\s\up2(2)-213x+252=0 
 EQ 6x\s\up2(2)-71x+84=0 
 EQ D=b\s\up1(2)-4ac=\b(-71)\s\up2(2)-4·6·84=3025 
 EQ x\s\do6(1,2)=\f(-b±\r(D);2a) 
 EQ x\s\do6(1)=\f(71-55;2·6)=\f(4;3) ; EQ  x\s\do6(2)=\f(71+55;2·6)=\f(21;2) 
Окончательный ответ:  EQ x=\f(4;3)\;x=\f(21;2) 
